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1) Let a € Rltis given that

2) lim (1 +ax) -(1- ax)
x>0 \/1+a x —+1-ax ‘
Find the value of a. ' 6\

b) Differentiate each of the following with respect to x.

i) 5 ii)x’ ln(l +x* ) iii) e "'F + Sin (e"2 )

(x2 + 1)

¢) Find the equation of the tangent to the curve given by
x= \[2—(Cos9 +Sinf) ; y= \/-2—(Sin6’ —Cost)

T
at the point on the curve corresponding to € = Z

x dx .
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2) a) By using partial fraction find

dx
b)Let = | ———
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By the substitution x = Siné show that I—f Cos6
. Cos0 + Sin6
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Using a suitable change of variables show that [ c HOSQS > I)_ - Z’:’i .
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Hence evaluate] .

c) By using integration by parts, find Ix In le dx .




3) a)let Z1 and /, be the straight lines given by 12x+5y=5 and 5x+12y=4 respectively. Show that the '

acute angle between  and /istan™ (%), and find the equation of the bisector of this angle.

_b) Acircle S = 0 passes through the point (1, 1). If the circle S’ =x* +y2 —2x+4y-3=0
bisects the circumference of the circle S = 0. Show that the centre of the circle S =0 lieson a
circle and obtain the equation of the circle.
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